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1.Your primary data center is located in NYC, New York, USA and hosts the majority of your user data.
You also have a remote office in Seoul, South Korea. You are also using ONTAP Cloud in the New York
region as a backup repository. You are asked to provide local copies of the backup repository to the users
in Seoul.

How would you accomplish this task?

A. Create a second instance of ONTAP Cloud in the Seoul region, and use SnapMirror to replicate the
data.

B. Copy data to disk drives and send them to Seoul.

C. Create a long-haul VPN tunnel from your primary data center to Seoul.

D. Back up the data to tape and use a courier to send the tapes to Seoul.

Answer: A

2.You want to transfer data to a cloud-based storage solution.

Which NetApp technology will accomplish this task?

A. FlexVol

B. SnapMirror

C. SnapRestore

D. FlexClone

Answer: B

Explanation:

Reference: https://cloud.netapp.com/blog/azure-storage-replication-snapmirror

3.You are deploying a virtual AltaVault appliance on a hypervisor for the first time.

In this scenario, which statement is correct about the resource allocation for vCPU, memory, and disk
space to be provisioned?

A. Resources are controlled by the hypervisor and not configurable.

B. Resources are limitless and will consume what they need.

C. Resources must be over-provisioned to ensure proper use.

D. Resources must be reserved.

Answer: D

4 Which statement describes SAN storage?

A. SAN storage is file based.

B. SAN storage is block based.

C. SAN storage is volume based.

D. SAN storage is aggregate based.

Answer: B

Explanation:

Reference: https://stonefly.com/resources/what-is-file-level-storage-vs-block-level-storage

5.What are two prerequisites for a two-node NetApp cluster? (Choose two.)
A. Cluster licenses must be enabled.

B. Cluster interconnect cables must be connected.

C. A data aggregate must be defined.
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D. SAN or NAS protocols must be defined.
Answer: AC
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